CHAPTER

EXERCISE 4.1

1. g ;  numerator = 0

denominator = 3

— numerator = -1

denominator = 3

—* numerator = -5

17 '

denominator = 17
-4
__—3; numerator = - 4

denominator = - 3

7
] numerator = 7
denominator = - 8

4
2. 0 is not a rational number.

Since, denominator = 0.
3. (i) Numerator = 3, Denominator = - 7

3

. Rational number = =

(11) Denominator = - 4, Numerator = - 3.

-3
-, Rational number = -
(111) Numerator =15-7 =8
Denominator=13 -6=7

.. Rational number = g

(v) Numerator=7 + 6 =13
Denominator = 17 x (-2) = - 34

13

.. Rational ber = —
ational number = —7

4 -4x4 -16

7 —7x4 =28
. -4 —4x(=5) 20
W =% "33

-4 —-4x(-1) 4
-7 -7x(-1) 7

Rational Numbers

6 6x(-1) -6
5. —_— -
Oy g (-1) 11
) =52 _250
~11 -11x5 =55
6x(-4) —24

(ifi) —— = ===
11 -11x(4) 44

-25 -25+(-5) 5
60 60=+(-5) =12

7 7x(-3) -2
7. () 3137 3% (3) 39

6.

w7 7x2 14
() 33 q3x2 26

6 6x(-1) -6

8 Z T 7)) 7
S _oxCD 3
5 5x(-1) 5

-11_ -11x(-1) 11
5  —5x(-1) 5

4 4x(-1) -4
-13  -13x(=1) 13

—7x2 14 -7x3 -21 -7x4 -28
8x2 16 ' 8x3 24’ 8x4 32
-, Three equivalent rational numbers of

7 -4 21 -28
g ¢ 16 ' g M¢ T3

11x2 22 11x3 33 11x4 _ 44

— e — ——
L]

() 632" 12 "6x3 18’ —6x4 24

. Three equivalent rational numbers

9. ()

ufl—lare 22, 33 andﬂ

-6 -12 =18 -24
18+2 9 18+3 6 18+6 3
U) 12:2 " 6'12+3 4’1226 2



10.

Three equivalent rational numbers

of 18 are . and 4
12 2" 4 6
3 5
() g7
L.C.M. of 8 and 7 is 56.
3.3x7 21 5 _5x8_40
8 8x7 56 "4 77,8 56
21 40 ;
Hence, == and 5 are the equivalent
forms of % and % respectively, having

a common denominator.

() 3.5

L.CM. of 4 and 8 is 8.

3 3x2 6 -7
4 4x2 8’ 8

6 -7

Hence, s and g are the equivalent

3 -7

forms of 2 and 3 respectively,

having a common denominator.

w73
(111) %'

L.C.M. of 6 and 4 is 12.

7 _7x(-2) -14
6 —6x(—2) 12

3 3x3 9
4 4x3 12
Hence, -2 and 2 are the equivalent
12 12
forms of Z and 3 respectively
-6 4 ’

having a common denominator.

True/ False (Pg : 66)

1. True 2. False 3. True 4. True

— 230
1. () 1

EXERCISE 4.2
30 30) 45 (1

. _ 15)30(2
H.C.F. of 30 and 45 is 15. —30

-30 (30)+15 -2 —2:-:(—1)
—45 (-45)+15 -3 (-3)x(-1)

24
(il 25"
18)24(1
B
H.C.E. of 24 and 42 is 6. )18(3

24 24+6 4 '13

=2
K

42 (-42)+6 -7

L4
~ (7)x(-])

Wi
7

=35
(111) 9

H.C.F. of 35 and 49 is 7.
35 (-35)+7 -5

| — .
_

49 9+7 7

(iv) _24
H.C.E. of 39 and 24 is 3.

39 _ 39+3 13 _ 13x(-1) _-13

24 (24)+3 -8 (8)x(-1) 8
~72

®) 59
H.C.F. of 72 and 99 is 9.

72 _(72)+9 8

_ B _

299 ((99)+9 11 (Al)x(-1) 11
216
—— 144 ) 216 (1
(@) =22 2744
H.C.F. of 216 and 144 is 72. 72) 144(2
-216 _-216+72 -3 -”04
144 144=72 2
-195 195)520(2
(U"') 520 5— 390
130) 195(1
- 130
H.C.F. of 195 and 520 is 65. 65)130(2
195 _-195+65 -3 -0

520 520+65 8



2
2. (0 ;; Draw a line and take a point O on it |

to represent zero. Take a point A such
that OA = +1 unit. Divide OA into seven

equal parts, each part represents %
O B A
< { =t >
-1 0 2 +1
5 7
Point B represents Z on the number line.
-13 1
o “13_ 51
(1) 6 6
-13 1
T=-ZE lies between -2 and -3.

Divide the unit length between -2 and
-3 into six equal parts. Each part

-1

rep resents ? .

(iii) '?7=—1

-+ | ——
0 1 2

N

12 12x() _-12_ 2
(W) 5= 5% 5 5

12

3=—2§ lies between -2 and -3.

< +—+ I | ! —>
14:;-2 51 0 1 2

— e T

5 5
3. (1)) L.CM. of 6 and 8 is 24.

|
|
-3

Since, denominators are same and
21 > 20.

21 20

> E}E
2424 — 876

(standard form)

Every positive rational number is
greater than every negative rational

number.
11 S -4
20 5
(1) L.C.M. of 16 and 9 is 144.
-3 -3x9 =27

16 16x9 144
5 5x(-16) —80
-9 -9x(-16) 144
» Denominators are same and -27 > -80,
- =27 s 80 _ 3.5
" 144 7 144 — 16~ -9
=35 -35+(-5) 7
& ) 20" 20+(5) 1

7 =35
Hence, 1 and ) represent the same

rational number.
=24 -24+(-6) 4
) 2 " +(-6) 7
=24 4

=" and —
Hence, . an —

same rational number.
. 5 9x(=2) 10
(”;) —_— = 3 5 -
8 8x(2) 16

-10 # =15

H i and __15
ence, -8 16

the same rational number.

represent the

do not represent

4'-12"16" -8

L.CM. of 4, 12, 16 and 8 is 48.
-7 -7x12 -84

4  4x12 48

5  5x(-4) 20

-12 -12x(-4) 48
—3_—3x3_—9

16 16x3 48




3 _3x(06) _-18
-8 -8x(-6) 48
-84 -20 -18 -9
48 48’ 48 ' 48

are in ascending

order.
= -—?, > ' > ; = are in ascending
4 -12" -8 16
order.
1 -7 -3 7

(i7)

-15" 10" 20" -30
L.C.M. of 15, 10, 20 and 30 is 60.

11 11x(-4) -4
-15 —15x(-4) 60
-7 -7x6 -42
10  10x6 60
—_3 _—3"‘3 _ -9
20 20x3 60
7 _ 7x(-2) -14
-30 =30x(-2) 60
o —44 -42 -14 -9 .
: ' / ' are m
60 60 60 60
ascending order.
1 -7 7 -3 : :
= ,—— ,——— ,—— are in ascending
-15 10 =30 20
order.
3 -2 1 =7

(fﬁ) T 0: ’
5 -3 2 6
LCM. of 5, 3, 2, and 6 is 30.

3 3x6 18
5 5x6 30
-2 -2x(=10) _ 20
-3 -3x(-10) 30
0.0%30_0 1_1x15 15
1x30 30" 2 2x15 30
-7 -7x5 =35
6 6x5 30
=35 0 15 18 20 .
—  are 1n

30 ' 30" 30" 30" 30
ascending order.

-7 1 3 -2
=>—,0, =, =, — are in ascendin
6 2 5 - 5
order.

6.

2 -4 7 -5
0 5392/ 18
L.C.M. of 9, 3, 12 and 18 is 36.

2 _2x(-4 _-8
-9 —9x(-4) 36

4 -4x12 48
3 3x12 36
7  7x(-3) -21

—12 -12x(-3) 36

-5 -5x2 -10
18 18x2 36

-8 -10 -21
36" 36 36
order.

2 -5 7 -4

-9'18'-12" 3
order.

, _318 are in descending

are in descending

., 1
(i1) , 5

, 3 and 3 is 15.
_ —-3x15 -45

e

1x15 15
-9

-3x%x3
15
— 40

5x3
8x(-5)
-3 x (- 5) 15

Il

Il

o ——

5 _:2 -40 -45
15"15" 15 " 15
order.

1 -3 8 :
= 3 .'_3,—3 are in descending

order.

-5 7 4 =2

9 '-12'-18"-3

L.CM. of 9, 12, 18 and 3 is 36.
-5 _ -5x4 =20

9 9x4 36
773 -2

-12  -12x(-3) 36

4 4x(-2) -8

-18 -18x(-2) 36

are in descending

(i)




2_—2x(12) 24 7 7x(-12) -84
3 3x(-12) 36 ) 75 Tx(12) 12
24 -8 -20 -21 _ ,,
36’36’ 36 ' 36 are in descending Hence, 7 |= %
order. 5 5x2_-10
= :; —‘148’ ;5.. —:;2 are in descending @) 217 21x2 22
order. ‘_10.,: =7 (v =10 < -7)
-3 5 42 42
7. (1) 53 and T3 W
13 13 el o el
Hence, 1 < I

=3 2 -—1{0{3 -16 _ -16x(-1) _16

<—<
13 13 13 | 13 (v) 7 _71(_1—) =
Hence, three rational numbers between =13 {1_@_ (+ - 13 < 16)
;3 and i a _—2 -—1- doO 4 £
13 13 ¢ 137 13 e ~13 7 -16
Hence, — [<| —
W 9 3 7 -7
(H) gandF 5_5:4_&
L.C.M. of 9 and 7 is 63. @) 75713 3
3_3x7_21 3 _3x9 27 15 _15x(=1) _-15
9 9x7 63° 7 7x9 63 -4 -4x(-1) 4
21 22 23 24 27 20 -15
Now, —c<cZf o2 =20 —_>— 20> -15
ow, G <a<as 1" 4 ( )
Hence, three rational numbers between Hence, 5 [>] 15
3 3 2 23 . :u 4
— and — are , and — 1 10. {f) L.C.M. ﬂf 15 and 10 is 30.
9 7 63 63 63
8. The L.C.M. of 7 and 5 is 35. 4 _4x(2) -8
-15 -15x(-2) 30
7 7x5 35" -5 -5x(-7) 35 -1_-1x3 _-3
Now, 2213 -12_-11_-10 e
3 35 35 35 35 -8 -3 4 -1
. © 3030 = 1570
Hence, three required rational numbers are
4
-11 =12 -13 Hence, —— is smaller.
3535 and 55 . o
() L.C.M. of 2 and 4 is 4.
9. (i) %{U (v =-7<0) i=—712__—14
2 2x2 4
=16 _-16+(-8) 2
() 24~ 324=(8) 3 . -4 - ~7 _ -1
.s < o <
a4 o 4 4 2 4
Hence, :'ZI;E -7

Hence, ? 1s smaller.



(i) L.C.M. of 36 and 9 is 36.

()

(i)

()

(1)

(i)

()

3. ()

( .

5 _9x(+4) _-20
—9  9x(-4) 36

20 -13 5

-13

<
36 36 29~ 36

S

Hence, — 1is smaller.

EXERCISE 4.3

L[ﬁ} Ol 2 W
7 7 7 7

—]3+7

-6 -3
4 2

7
 — m =
4

)+ (—6) -5-6

-—-12
T 13

-11

-13

4

-8 (_4) (—8)+( 4) _-8-4
13 |13 13
.

i

—6 1. i}
11 11 11

)

()1 e -
12 “12x(-1) 1

_12=-=l+(—5) ~12-5
- 12 12
-z 8 _(-2)x3+8x1  —6+8
9 7T 27 27
-5 5 ~5x2 5=-=3 —10
12 8 12x2 st 24

—10+15 5

24 Y
—3!3+(—5)x2
4x3 6x2

-3 . -5

4 6

) —9 -10) _ -9-10 _

=12\ 12 12
—9x3 (=1)x4

+( )

._2. + ——1 =
24 18 24x3 18x4
L.C.M. of 24 and 18 is 72.)

I

-19
12

m—
—

15
24

7

12

k3
27

- 27 -4
= —t| —
72 (?2]
i |
772
. -6 5 -6x2 5Hx3
(1) +— = +
27 18 27 x2 18x3

(.- L.CM. of 27 and 18 is 54.)
~ —12 15 -12+15 3 1

— e o
m==m — —

54 54 54 54 18
. =7 [ (-7)x1+(=5)x3
() 3¢ * (12] ] 36

-7-15 -2 -11

 — .
= = ==

36 36 18
3 (=) 3xCD | (HxED
-7 \-21)  (=7)x(-1) (=21)x(-1)
(Making denominator positive)
—3 4 (-3)x3+4x1 _9+4 5
"7 2 21 21 21
1 -4 : 1 (4)x3+1 -12+1
3 1 3 3 3

()

() -4+

(m)i+l_ 4(1) 121

-15 12 -15x(-1) 12 15 12
(Making denominator positive)
_ (4)x4+1x5

60
(- L.C.M. of 15 and 12 is 60.)

-16+5  -11
60 60
11 7 -11x9  7x2
+ = +
8 36 8x9 36 x 2
(- L.C.M. of 8 and 36 is 72.)

=99 14 -99+14 -85

72 72 72 72

5 N 8 _ 5x(=1) 5 8 .6
-26 39 -26x(-1) 39 26 39
(Making denominator positive)

-4 1

(vir)

o -5 8
(o)




4,

1.

_ (-5)x3+8x2

78
(-- L.CM. of 26 and 39 is 78.)
-15 +16 1
78 78

0 38 36)
-5 \-3) 3 5 3) 3

(Making denominator positive)

=—8H3+(-4)H5+1H5
5x3 3x5 3xd

-4 ( 20]+i
15 |15 ) 15
(- L.CM. of 5, 3 and 3 is 15.)
_-24-20+45 -39 -13

15 15 5
14 -5 -9 14 5
R R — —_— = + +
@ —26 39 [-13) 2639 13
(Making denominator positive)
~—9Ix3+14x2+5x6 -27+28+30 31
B 78 - 78 78
. 24 (-1 24 X2 +(-1)+2x10
2l —=|+2 =
@) 3 +(10]+ 10
 48-1+20 67
10 10

(3] () HE)

(Making denominator positive)

~3x27 (—5) x 3 5 9
1#27 9x3 3!9

81 -15 45
27 27 27
(.- LCM. of 9 and 3 is 27.)

_ 81-15+45 111 37
- 27 27 9
EXERCISE 4.4

4 (=6) _4-(-6) 4+6 10
( 11 11 T

i _—_8__(3] (-8)-(-7) _-8+7 1
13 13 13 13 13
4 (-9 4-(-9) 4+9 13
T [17] 17 . 17 17
. i[j} (=6)x9—(~4)x8
(1v) 3 9 | = -
_ —o4+32 _ 22 -11
7”72 36
[i]_[:ﬁ) (-4)x1-(=6)x 3
(@) (39)7\13 )7 39
-4+18 _ 14
T 39 39
_ i_[-_B]_4=l—(—3)x3_4+9_ 13
) 9 \7)S T TTam
. 8 (6] _8-(6) _ 8+6 14
(vil)) —=|—| = i
19 (19, 19 19 19
=2 (-1 =2-(-1) -=2+1 -
(viii) ——| —| = = = —
3 \ 3 3 3 3
5 3 5x8-3x7
0 775~ 56
(- L.C.M. of 7 and 8 is 56.)
_40-21 19
" T56 56
7 5 7x9-5x8
M 879" 7
(.- LCM. of 8 and 9 is 72.)
_63-40 23
7
.. 2 (-5) 2x6—(-5)x7
¥ E'(z) T
(*+ L.C.M. of 7 and 6 is 42.)
_ 12435 _ 47
42 42
.. 5 14 5x5—14x3
(iv) ——— =
3 5 15
(- L.CM. of 3 and 5 is 15.)
25-42 =17
- 15 15
—11x1—6x%



w 9 [-

@ii)) —-

_-11-30 -4
-5 5
5x1-(-6)x3 _ 5+18
63 63

(- L.C.M. of 63 and 21 is 63.)
23
7 7“( 1)
- _[_9] 3 (-9)x(-1)
=g_[—-_7)_2x3—(—7)x1_6+7_13
3 |9 9 9 9
1 1 _Ix(=1) 1
5 (—4)x(-1) 5
_(-1 _l_(—l) x5—-1x4 -5—4=—9
4) 5 20 20 20

(.- L.C.M. of 4 and 5 is 20.)

3. Let the number to be subtracted be x.

Then,
-3 -31
2 YT
N j-—r 31 _ —31+31
2 14 14 14
31
(Addmg — on both sides)
_ - + 31 = X
2 14 )
(-3)x7+31x1
= X = 14
(L.C.M. of 2 and 14 is 14.)
- —21+31 10 5
i S T T a7
5 -3
Hence, - should be subtracted from >
-31
to get —— 14 "
4. Let the number to be added be x. Then,
5 41
6 YT
5 41 41 41
~ 6 24 24 24

41
(Subtrar:tmg — from both sides)

41 5
— = ——— = e
24 6
 41-5x4 41-20
. 5T T T
_ a7
24 8
Hence, Z should be added tuétu get ﬂ
8 6 24
. The sum of & and 9 i.;.i
7 14 7 14
(-2)12+3x1 -44+3 -1
14 14 T 14
11 15 11 15
—_— = + —
And, the sum of 2 and 2 12
- 11x3+15x1 33+15 _4_8_ 16
- 42 42 42 14
Now, 16 (-1 16 (1) E
" 14 (14 14 14
Other number = -—7_(.__5
13 \ 39
(-7)x3-(-5)x1 -21+5 -16
- 39 39 39
-16

Hence, other rational number is 3—9

7. Let the number to be added be x. Then,

I
5 \3)*t*=1

o (—3)“3*‘(—5)“5)
x=1 ( 15
(.. LCM. of 5 and 3 is 15.)

—9-25) 1 (-84
x=1-1"95"11 {15

- 1x15-(34)x1 15+34 49
T 15 15 15
. .49
Hence, the required number is 15



8. Let the number to be subtracted be =x.
Then,

-2 1
5 35
_ -2 11
= X= = -3
(-2)x7-11x1 -14-11
) 35 T35
25 5
- 35 7
. -5
Hence, the required number is -

9. Let the number to be subtracted be x.

Then,
3,3 oy
18 12 ’ 72

-9X2+5%3 -11
.—I:

36 E
- -10+15 o -11
36 YT
5 -11
= —_—  —_r= —
36 72
5 11
=:? :._‘ = — o —
36 72
 5x2+11x1
- 72
_ 10+11
72
a7
72 24
. -
Hence, the required number is TR
10. Other rational number = E i
' 2 10
_3x5-9x1 15-9 6 3
10 10 10 5

) 5
o-n- (3 (£HE

3

Hence, the other number is g

EXERCISE 4.5

-3 '5" _ -3
() .5/11‘7 -
_ 2 (3) _(Dx(-3) _6
@ (1] 7 7
(1f0(—2):i=ﬁ.—.—_6.

1\ 3)
(A (2] cnxea

| =2, 3
() 7’1 2{3 1x8 8
\ 7\ /
2 (x5 10
(©) 5> (9= 9 =3
- P (-3)x2 -6
(1) =Y. (137 -7

3 |=2| _3x=3) -9
2 7"( ] - 7x5 35

C(x(-21)
-
1
—_ —_ -1x7 —
gy 27 o2 T 0T 7
3 8 3 g, 3x4 12
- -6 9  (-6)x9 -54
“) 1175 T 11x5 ~ 55

0 (4)- 5%

/
(-)x(5) _ 5
3x1 3

42

Il



2 (21) (217 _(2)x43 86
@) =9\ )™ 7, | —ad, 9x35 315
~1) x - 4
_ (-1)x7 _ =7 _ 7 5. (i) (zxij-‘-li_-l-(iﬂ
3x(—4) -1 12 4) L5 \2
. 2 -15° 7 -3x7 ( 1 3) [4 (-3)]
15x]==—C" xm— " =.2] = +
(vr) 5 1 g, 1x1 2> A,
1 g 10 (637 (Making denominator positive)
(o) —lax(—sﬁ]—_—lx{ T ] =§+_4x2+(-—3)x5]
2 10
_C0xn 70 4 )
1x11 11 °11 3837
2 4 2 | 10 2 (10
v=5y=z andz=-1 3x5+(-7)x1_15-7
LHS. =x x (y + 2) - 10 -~ 10
4
=-_—3x |:£+(-1)] =_—3=¢|:4+(_1)13i| = 'g =‘ti
=;3x(4-3)=—»3" A1 : - :
RHS. = (x x y) + (x x 2) 18 \15)] | \-2)
( 1 2 ) i 4 A ) 7
= -2 ’{ +(:§x(—l)] = 20 X 24 || ,B":u{i]
i-‘(: /dl) 2 ﬁ(l }5/,3’: - 11 "
_ 2, B3 2.3 _4x(=1) _4x(-1)
1 2 1 2 1x1 1
_ (—2)x2+3:-:1=——4+3 _ -1 = —4—(-8)=—-4+4 =0
2 2 2
Hence, L.H.S. = R.H.S. 6. (i) -3 XE= 3
- - 5 5
. =5 |- (—3]
4. (I) —_—X| —F| — 5 7
3 _2 5 -] ("') E:—l
_5 |:(—1)15+(—3)H2:| —5:{-5-6] "
- — X 1 = . M
3 0 3 L 10 (i) 10]x—==0
|
= i}{_ll) ) L) (iv) L L4 =1
3\, 3x2 6 27 |6
-2 (3+4)_:3x[3"5+4“7) -9 [3|_27
) 9 \775) 9 35 @ 373" 39
_"_21‘(15*‘28) _2}:2 —36 7
9 \ 35 ) 9 35 (@) = *|5|=~1°




2 -7 3 -1 1
. The cost of 1 m of cloth = ?425 Reciprocal of ( 9 "14)01‘ P _—1/6
3 6
. The cost of EZm of cloth - ——m
-1
( n A
2 .3) _[128" 23 s 5 25 24
=3 425151 =3 3 l 2. (I) = Ay | 5 am—
k ' 12 A, g,
5 22
32 x23 736 1 (Reciprocal of — is —)
"?{ 3x1 ]= ?T==\F245§ 22 5
x 2
3 1 - 17 =10
Hence, the cost of 5 —m of cloth is ¥ 245 —. 1x1
4 3 3
@ B2 KA
. Length = 13l m, breadth = llzm 7( 262
2 ? 26 21
Area of rectangular park (Reciprocal of =+ is )
= length x breadth
1x3 3
1 2 = Y
=(135m ]sq m 1x2 2
11
(o) (ii) (-6) + == =(=§ )x—
- 2 2 S m_(9x35]5 m . 2
2 A% > |9 _ 311
(Reciprocal of — is —)
11 3
.o Sq.m = 157l 2)x11
=5 q. 5q. m _ | )1 =-22
Hence, area of rectangular park is]ﬁ;rlsq. m. 3 5 -3 g (3)x1 -3
2 (l"ﬂ) — e — o — R — = e—
8 8 8, 5 1x5 5
EXERCISE 4.6 5 g
2 3_2x3_ 6 (Reciprocal of P iS E)
(I' —_ =
5 7 517 35 4 9 4 7 9 7
4 2.2 82,7 . 7 . 7
| 6 1 35 (1) 557 55%% (Reciprocal of - 18 g)
Reciprocal of 35 6/35 6 _28
45 . i
~7 1 -2 _
(") RECiprﬂCEtl of 25 = _7/25 = ?5 (.I'.I) -E-‘—[__ZJ =£ x ﬁ.
13 \6s) ¥, ( 2,
-1 1 13
_ _ e -2 -
() Reciprocal of 13 -1/13 -1 13 (Reciprocal of I 15—3—5)
3x (-5
7 ,3' _(-1)x1_ -1 = ( )=_. 15

() Iga }‘fz 3% 2 ? 1



—6+4=_53 ,63/3

(i) X —- 65x1+11x3 65+33 98
2B oA, A, - SLAL-H
9 9 9
(Reciprocal of — isis-) 7 5 7 (5 35
P 63 4 And, product of —and— =—*| — [=—
6 -3 6 \-3) -18
_(-3)x3 -9
1x2 2 98 (35) 98" (-187) -28
1 [ 4 Now, ?T TB =7, " 355 =?
. -5_(-15)_-5 =28
w) & | 5 |
7 | 28 ¥ 35  -18
7/ ' *) (Reciprocal of — is ——)
15 -8 -18 35
(Reciprocal of — is F) 9 (-3
5 7. The required number =—+ (-—-}
_(Dx(-4) _4 9 12
3 3 s [
-13 (=26 = .__’g. X i = -31(_1)= 3
4. Other number =—F(/%|—F5— 2., | 2, 10x1 10
9 7 \ y
‘ 3
=22 x| =L Hence, the required rational number is — .
9 | 26, 10
26 -7 8. Distance covered by car in one hour
(Reciprocal of — is —
7 26 1 .4
= |189 —+4— |km
_EDx(=7) _ 7 3 9
9x2 18
7 - (2.8)..,
Hence, the other number is TS 3 9
( 71 3)
The required number = =+ | = |2 L km
5. The required number = —7+| = a. V.4 /‘;1,()’5_”I
-3 (- 71x3
B o = - km=Ekm=42§km
10 \ 2 1x5 5
; -2 ;. =3 3
(Reciprocal of 38 ?) Hence, the car covers a distance of 42 s km
(-3)x(-3) 9 in 1 hour.
T 2020 MULTIPLE CHOICE QUESTIONS
Hence, the required rational number is 2 1.0 ne1thE1_r positive nor negative.
20 Hence, option (a) is correct.
65 . -11_65 11 27 2wean
6. Sum of ) and _—3=?+ 3 2. 81 81+ (-27) 3

(Making denominator positive) Hence, option (b) is correct.



10.

. Other number = -6 + (‘—)

82 _ -3 (=
. o XS X= ——| —

= x=-8
Hence, option (b) is correct.

-3|_3
12| 2

Hence, option (c) is correct.

19 1 7

. The reciprocal of ? = — = —

Hence, option (c) is correct.
-4

. +tx=1

9

R

_1x9-(4)x1 _ 9+4 13

9 9
Hence, option (b) is correct.
-3
2

2 [(=2) (=2)x(=2)
-4 ) - -

.1 .
Hence, option (b) is correct.

(33

=(—4)x5+(—3):—:1 _ -20-3 _ -23

5 5 5
Hence, option (a) is correct.

7 7 7

7 7 7
Hence, option (b) is correct.

55 + Rational number = BE

9

(-3)-(-2) _ -3+2 _ -1

2 4 (-2)x2-4x]

B-f

17 _ 17
= —+ Rational number = —

3 5
17 17
= Rational number = — + —
3 5
_fw’lx5 _1x5 5
T3 17/ " 3x1 3

Hence, option (a) is correct.

MENTAL MATHS CORNER

-2 ~1)Yx7 —=(=2)x
_ .1-=-1_[—-]=“’ 7-(=2)x1

_ -4
9 18 18 18

8 4
9

=E—
2 4 -4
>

Hence, 9 _18 =

-7 7
. =1 x [ﬁ)_ 11

(5] 5] 3

).

>
7

Hence, 1 + (

5-5+5

; .- -
7_ =

S
-5
>
7

|y W

7 7



2. (i)

5| |-5| 5 5 . =3
Hence, ;-?+;= ; (i7) ?
<— it ; —>

REVIEW EXERCISE -2 -1 .{z' 0 +1 42
S 4. LCM. of a2

-15 (- 15) + (- 3) 5 . LCM. of 7, 35 and 21 is 105.
iy A - 1) -2 -2 _ -2x15 _ -30

-36 -36+(-12) 3 7 7x15 105
i) = = 222 =7 5 _5x15 _ 75

~75 -75+(-5) 15 7 = 7215 - 105
) = =222 =Y M 24x3 72

49  49:7 7 A o ERRD

s dx(-6) -2 35 35x3 105

-5 -5x(-6) 30 11 11x(-5) -55

2 -2x10 -20 —21 -2Ix(-5) 105

3 3x10 30 75 72 =30 -55

Therefore, ™ > ™ > o > T are in
-24 -23 -=-22 -=-21 -20 :
< < < < descending order.
30 30 30 30 30
23 11 7 2 = S & =i A are in descendin
P W P Pl 73" 7" =21 &
-5 30 15 10 3 aidet
Hence, three rational numbers between 5
4 2 =23 -11 -7 5.+ —~ and —b— are equivalent rational
— and — are - and — 7 - 28
=3 3 30 15 10 numbers.
1 1x3 3 1 1x(-1 -
(ii) —=——=—and—= 1) _ -3 _ P
3 3x3 9 -9 =-9x(- l) 9 7 — 78
3}2}]}0}-_1 —33‘:—4- p
9 9 9 9 — T4 = o8
-1 1 2 3
or —<0<=<—=<— 12 p
9 9 — L _
' ' -28 -28

Hence, three rational numbers between — p=12

1 1 1 2

3 and ) are 0, 9 and 9" 6. (i) —7 8 —7:3-!-8:2 -21+16 _ -5

. ) 16 24 48 48
(1) E (ID -3 (j] -3x7 - (—4)::10 —?.I+40 19
<« | | 4 ————> 7 N

R P i Zo(2). —7 u:r"’“ 2

4 4 6 \—42 B, x— 47 i 3




' 7 ! 7 x (-9) = 63 = ! + : :
1} - -+ —_— = - X |- = —_— —_— = —
(i) = -9) ratrlli
-16 1 1 _
The required number = 8 + | - Here, — and ; are the reciprocals of
‘ : 3
numbers x and y respectively.
_ g E[ -5 ] _1x(=5) 5 We see that, the sum of the reciprocals of
2 1
36, two numbers is >
Hence, the required rational number is . 5 3
2 _ _ :
2, a=—,b= = (Given)
-8 16 2 2
. The required number=13+3 +b_g 3 2x2+3x5 4+15 19
P52 10 T 10 10
—/3’ (L.C.M. of 5 and 2 is 10.)
16 z 2 3 2x2-3x5
and a-b=—- - —=
5 2 10
_(Dx3 3 ) 4—15 -1
13x2 26 B 10
-3
Hence, the required rational number is — %" Now,(a + b) + (a — b) = __,(_01)
BRAIN TEASER
. Let the two numbers be x and y. Therefore, - 2 [ ]
x+y=10and xy =20 (Given) M 1
Now, x+y=10 | ; fi -10
_ i+i=2 (Reciprocal o 0 is 11)
iy 1y Xy _19x(-1)  -19
— X,y _10 1x11 11

xy Xy 20



